
I3  Turck Inc. | 3000 Campus Drive, Minneapolis, MN 55441 | T +1 800 544 7769 | F +1 763 553 0708 | www.turck.com

W
e

 re
se

rv
e

 th
e

 rig
h

t to
 m

a
k

e
 te

ch
n

ica
l a

lte
ra

tio
n

s w
ith

o
u

t p
rio

r n
o

tice
.

Accessories

Die Protector DP-08-25-08 DP-12-25-12 DP-18-25-18

Sensors
Bi1.5U-EG08-AP6X

Bi2-EG08-AP6X
Bi2-G12-AP6X-H1141

Bi5-G18-AP6X
(When not fully engaged)

Note:  Works with all shielded NPN, PNP, quick disconnect or potted-in-cable versions of the listed part numbers. 

Whisker Probe WP-08-50-03 WP-12-50-03 WP-12-50-06

Sensors
Bi1-G08-AN6

Bi1.5-G08-AP6X
Bi1.5U-EG08-AP6X

Bi2-EG08-AP6X
Bi2-G12-AP6X-H1141

Bi3U-M12-AP6X-H1141
Bi2-G12-AP6X-H1141

Bi3U-M12-AP6X-H1141

Note:  Works with all shielded NPN, PNP, quick disconnect or potted-in-cable versions of the listed part numbers.  Not for use with Uprox3.

Part Number ID Number A B C D E F

DP-08-25-08 A2521
0.98

[25.0]
1.25

[31.8]
0.66

[16.7]
M8x1

0.17
[4.3]

0.44
[11.1]

DP-08-50-08 A9473
1.97

[50.0]
1.25

[31.8]
0.66

[16.7]
M8x1

0.17
[4.3]

0.44
[11.1]

DP-12-25-12 A2519
0.98

[25.0]
1.25

[31.8]
0.66

[16.7]
M12x1

0.17
[4.3]

0.62
[15.7]

DP-12-50-12  A9169
1.97

[50.0]
1.25

[31.8]
0.66

[16.7]
M12x1

0.17
[4.3]

0.62
[15.7]

DP-18-25-18 A2520
0.98

[25.0]
1.25

[31.8]
0.66

[16.7]
M18x1

0.17
[4.3]

0.87
[22.1]

DP-18-75-18 A9527
2.95

[75.0]
1.25

[31.8]
0.66

[16.7]
M18x1

0.17
[4.3]

0.87
[22.1]

Inches [mm] 

Spring rate for plunger actuation: 9 oz

Part Number ID Number A B C D E F G H J

WP-08-50-03 A2527
3.92

[99.6]
1.25

[31.8]
0.15
[3.8]

M8x1
0.13
[3.2]

2.00
[50.8]

1.95
[49.5]

0.44
[11.1]

0.86
[21.8]

WP-12-50-03 A2528
3.92

[99.6]
1.25

[31.8]
0.15
[3.8]

M12x1
0.13
[3.2]

2.00
[50.8]

1.95
[49.5]

0.44
[11.1]

0.86
[21.8]

WP-12-50-06 A2529
3.92

[99.6]
1.25

[31.8]
0.15
[3.8]

M12x1
0.25
[6.4]

2.00
[50.8]

1.95
[49.5]

0.62
[15.8]

0.71
[18.0]

WP-12-100-06  A9195
5.91
[150]

1.25
[31.8]

0.15
[3.8]

M12x1
0.25
[6.4]

4.00
[102]

1.95
[49.5]

0.62
[15.8]

0.71
[18.0]

Inches [mm]

D

D

A

E

F

2x B

C

E

D

F

A

G

B

J

C

D

H (ACROSS FLAT)

Die Protector

Whisker Probe

Recommended Sensors for Die Protector

Recommended Sensors for Whisker Probe

1.97 1.25 0.66 0.17 0.44
DP-08-50-08 A9473 M8x1

[50.0] [31.8] [16.7] [4.3] [11.1]


